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% @ @ -i\ % cuatro decimales, orden de operaciones con
paréntesis

Nombre: Fecha: Puntuacion:
24(4—-5,3)+6 = 25(4,7+2,6)+ 5=
(10+-5+4,8)x6,8 = (2,4+6,4)x51+2,5=
25(5,5+4)+=5 = (5,5—5,7)x3,2+4,5=
3,2—-2,2(2,3—-2,7)= (2,8+3,1)x2,4+3,5=
(2,4+4,2)x5,4+2,9= 2,3+4,1(2,2—5,3)=
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-3
% Q @ i\ % cuatro decimales, orden de operaciones con
paréntesis

Nombre: Fecha: Puntuacion:
24(4—5,3)=6=-52 25(4,7+2,6)+5=36.5
(10+5+4,8) x6,8 =46.24 (2,4+6,4) x5 1+2,5=47.38
25(5,5+4)+=5=475 (5,5—-5,7)x3,2+4,5=3.86
3,2-2,2(2,3—2,7)=4.08 (2,8+3,1)x2,4+3,5=17.66
(2,4+4,2)x5,4+2,9=138.54 2,3+4,1(2,2—5,3)=-1041
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